3. BE - EH

1) B&E

(A FIBEEER)

BlE O EfiRR - THERESGH

(2) ] BN 5 B LR S AR PR BRBE O AR 222 B9 % Sl
%

KR figk - LH ik
i ot [ S0 [T S0 | | meemoms || SEE | e SEE
4 B0 TR 431 -2 143 ol |&EhnTrek 43| -217 38 -2
JE SRR 0 0 0 o | /B3t 0 0 0 0
BUE IR 0 0 0 of | ~ v avr vy 0 3 0
NUFA Yy 12 0 10 of | &AM 7 0 4 0
WET 1L % 54 -1 32 o | 7=+ o -17 0 -1
WL A 189 0 32 0 B - 7T X< G 30 -10 29 -1
AT 49 0 36 0 TR 3 0 2 0
fioeEyia 10 0 8 of l7—vvrsv— 21 -1 18 0
=T 4= =9y 83 0 4 o | F7 AiEvEHk 0 0 0 0
7 Z A b 9 -1 5 o |m—%V—x1> 0 0 0 0
BT T — 1 0 1 o] |EHAA—F— 54 -1 39 -1
i 24 0 15 o] |EXUF 0 0 0 0
22 SRR % 1562 6] 239 1 Bl 118 | -29 79% -3
o A 29 0 16 0] MEERHEOREMBREZRE L TWHIEAH Y, TEMO IR E TR
ik 457 0 12 0
R AT U AR 16 0 12 ol (3 BRFRHIEE itk T8 - TGk
EVARI VAV 12 0 9 0 R E Kk B L HNELC SHFEJEE [ 5 A SEERE | T
TATTWET" T 4 0 3 0 FL TH%H B | R TR | s aF
B BT 0 0 0 0 1T 20 0 4 0 24
AKE I TRk 78 0 62 0 4.6 (%) 5.1 (%)
RZ LN —T1— 0 0 0 0 otk 187 1 48 0 235
T R— 3 0 3 0 43.1 (%) 60.8 (%)
AR 0 0 0 0 5 3TE 183 -1 25 -2 208
M T 12 0 10 0 42.2 (%) 31.6 (%)
Ao T HE 41 0 29 0 AR 44 0 2 -1 46
A TR 22 0 20 0 10.1 (%) 2.5 (%)
PO 0 0 0 0 &t 434 0 79 -3 513
FI il 275 0 63 0 100.0 (%) 100.0 (%)
arcils s R | 102 0 8 0
BRI ST R 28 -3 8 -1
B 2,978 1] 4343% 0

KEBREIHOREM R ZRE L TV 2 TERH Y . TIHROIRE LR




(4)

IREVBLRITE DR E MR - THF RS

R E Tt % O FHFH MaER A | SAEEEEE | T35%k | SAREEHEIN
4 8 I TRk 415 1 125 0
WRET L A 57 0 30 0
7 A S 241 1 35 0
AT 92 0 52 0
RS 9 0 6 0
DAX=T 5= ) 2y 16 0 2 0
JEAEH 374 0 133 0
T PR AR 29 0 17 0
il 444 0 12 0
arv V=T ay sy 3 0 2 0
avyy—hrTmay s 3 0 2 0
a ) — E RGNS 0 0 0 0
ARFF I T ARk 2 0 2 0
RF b/S—T— 0 0 0 0
T 8— 2 0 2 0
FI bl bk 136 0 32 0
= L e — B 138 0 8 0
A RS TE T H RSO 148 5 10 0
7 SR Ryt 42 -3 9 -1
At 1,731 3 2603% -1
MEBEEOEBRZRE L TWSLERS Y, THROFEREFR
(5) HREHIHIEEHIER] LY - S35
i Xk RENELSNE (%)
o1 95 36.5
ofE 165 63.5
At 260




(6) HEhEERZ AR H
A RS A FE R E S
Wz BRI | BRI oy | TR |REEEE D w
KI5 B 65 70 O
o 2 [X I 2 SFSEITH28A (k) ~11H298 (k)
DK SR SBT3 25 —5 w & ’ w 57 65 O
S SEiR 3 =3 66 70 O
o 2 [X I 2 SFSEIIH208 (H) ~218 (k) T
N ATEBEANIT2818—1 w & w 60 65 O
b= N p ) = 66 70 O
2 F [X I 2 SFBHEILA218 (k) ~22H (K)
PR RESTEAL 65— 12 AR " ’ I 58 65 O
45 FH A B T Y AT A B
S *
. T EURE R R D A I D A R - Al & b
il IHERE | g | mmmimeni | msgiss F BB T s HE
i (%) | Pk (%) b (%) =k (%)
T HE2E [ 90 90 100.0 0 0.0 0 0.0 0 0.0
KA o 7 FEUTHEZE R 65 65 100.0 0 0.0 0 0.0 0 0.0
&t 155 155 100.0 0 0.0 0 0.0 0 0.0
I HEZE 130 130 100.0 0 0.0 0 0.0 0 0.0
UK SRS FEITREZE 164 164 100.0 0 0.0 0 0.0 0 0.0
Gl 294 294 100.0 0 0.0 0 0.0 0 0.0
ST HE2E [ 105 105 100.0 0 0.0 0 0.0 0 0.0
AR FETREZE 175 175 100.0 0 0.0 0 0.0 0 0.0
G 280 280 100.0 0 0.0 0 0.0 0 0.0
UTHZZE 325 325 100.0 0 0.0 0 0.0 0 0.0
YN FETEEZE] 404 404 100. 0 0 0.0 0 0.0 0 0.0
Eis 729 729 100.0 0 0.0 0 0.0 0 0.0
ST HEZ= QHMUU T OHEMAEF T HuipiEs@maH ) EE (B BPEEEE, —REE. FhEFRE., hiTshE,
AL, MITAEICHTZ->TE, 4 TR EOXM, ) 1TEKELEY 1 5m, 2HEBEEEX 5HEREHT D
HARRAC I A ) ERITE KR LD 2 0 m D&,
IR ZE ] ERIE D 5 0 mOFFHD S ITREZE ] & B\ - Fa




(7) 1B A PR BN A AR 2R

45 PN S JEE ) A s
I H ISR | A B B posy | TEIR I EREBUL
KI5 B 41 65 O
HB1FE X I 2 SFSHEI11A28H (k) ~11H298 (K) o
DK TSR BN ANTE S 2 5 — 5 IR "’ ’ # 25 60 O
UKD iR B 37 65 O
o1 FE X 1 2 S 54E11H208 (H) ~21H (k) o
REKTHESANIT28 18 — 1 w . b % 27 60 O
b= N p ) & 36 65 O
B UFE X I 2 SFSEILH218 (k) ~228 (K) =
PRk K T E AL 65— 1 2 "’ ’ 1 23 60 O




